Total number of beans you start out with ________   (Dividend)            
          Hint:  This is the number you start out with. You will divide this up into smaller pieces.
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The number of cups you will use to divide the beans into _______________ (Divisor)
The amount of beans inside each cup after you divided them up equally _____________ (Quotient)
Division Rules:
You need to have the same amount of beans in each cup.  The amount of beans left over after you’ve divided the beans up equally is called the remainder.

	Dividend ______________

Divisor ________________
	Quotient ________________

Remainder (if any) _________


Write your division equation in two ways.
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